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Ruestion Questions

No.
1. | The best coking coal is mostly obtained from
(1) Neyveli : (2) Jharia
(3) Raniganj (4) Singrauli
s DT Fae AEEAT ......... § 91 R6ar SR B
(1) = - Q) s
5 o - (4) R

2. | Wettest months on the Coromandel coast of India
(1) January, February and March

(2) February, March and April

(8) May, June and July

(4) October, November and December

T FITATET TE W g o AR
1) s¥Ed, s o 9 (2) w@d, o g |
(3) W, T T I (4) SRR, T U REe
3. Tﬁé typical area of dispersed settlements in India
(1) Punjab (2) Himachal Pradesh
(3) Bihar ' (4) Maharashtra
o A o o R A
(1) o (2) fora R
(3) fer (4) =eros!
4. | The ideal region for the cultivation of cotton in India is
(1) Deccan Plateau @ Brahmputra valley
(3) Indo-gangeticplain (4) Runn of Kutech -
E ¥ FW A AR B o qEE SugE &
(1) FFET ©R (@) sug T
NE) Ry e 4) F=|H

L
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Code-B

Question

No. Questions |
5. | Which state is the largest producer of Saffron in India
(1) Jammu and Kashmir (2) Uttar Pradesh
(3) Andhra Pradesh (4) Bihar
T ¥ B | T DA B TR T I @
() o q B (2) WY
(8) o My (4) FER
6. | State of India having largest Geographical area
(1) Madhya Pradesh (2) Maharashtra
(3) Rajasthan . (4) Bihar
(1) == mw _ (2) werrg
B) wmm . : @) Rex
7. | The highest salt producer state in India is
(1) Rajasthan (2) Gujarat
(3 Andhra Pradesh (4) Tamilnadu
AT 3 T B G S T H T T
(1) ST ' (2) gﬁ'{ﬁ!
(3) o Wy @ mﬁm@
8. | Which of the following state hag the Iargeét scheduled caste population
(1) Bihar (2) West Bengal
(8) Uttar Pradesh _(4) Punjab
Frer 7 & frm o 3 gl o 9 Srie S s ©
(1) Rer (2) uf¥erdt SR
(8) T MW (4) wm
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Questions

9. | Junction of Eastern ghats and Western ghats are known as ........ hills
(1) : Cardamom (2) Anaimalai
() Nilgiri (4) Shevaroy
ol a1 gt ofverd o1 & veredl FEam §
(1) refm @) o
@ WhR () o
10. | The I.ndia’s sovereignity in the sea from coastline is ........ nautical miles
(1 03 2 12 @) 156 4 20
w5 F qetEn & 9RG B TG ... wpht i &
(1) 03 2 12 3) 15 , 4) 20

11. | El-nino is most affected at the

: (1) Brazilian coast (2) Hawaiian coast
| _ (3) Australian coast (4) Peruvian coast
o AR ge w9 . 0 e A d
(1) smia @ (2) &) @
(3) onef ae @) ¥ &
12. | Which of the following materials are deposited in calm sea water
(1) Clagandmud @ s~
(3) Sand ~ (4) Gravels
o T ot 3 R SR 1 G P g 3
| (V) it T 9% (2) =
@) @ =
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Code-B

Questions _
6 The solar rays very effectively penetrate up to ........ depth in the ocean

@h) 20 meters (2) 30 meters .
(3) 40 meters ' (4) 50 meters
g% & gd ot gt ww d L FI TR 0% Ja9 F U §
(1) 20 #rex (2) 30-7x :
(3) 40 ey ' @ 50 #ex

14. | Which gas absorbs the ultraviolet rays coming 'f;'omlthe_ sun
(1) Oxygen | (2) Hydrogen
(8) Ozone ; (4) Carbon di-oxide
P @ gl & o Al o el @ drg el R
(1) oo @ TR

(3) e (4) @ 3 oS

15. | Which faétor (s) cont;'ibutes to the formation of soil
(1) Air and water (2) Rock and temperature
(3) Bacteria -~ (4) All of above
P 1 PG et T F weras. & | e
(1) @& &= g (2) ©TEH U1 ANEE
@ g g | (4) Swm

16. | The retreating south west monso%n of India does not affect ........
(1) Uttar Pradesh (2) Orissa’

(3) Andhra Pradesh (4) Tamilnadu

ARG & dear gon afell el A Pl AW & FA
(1) SWERY (2) s
(3w Ra (4) T
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Questions

Which river of India is called Dakshin Ganga
(1) Krishna ~ (2) Godavari
(3) Cauveri (4) Mahanadi
aRE B B A T T T FEww &

(1) 91 (2) e

@) #&@ : 4) werd

18.

Sardar Sai‘ovar project is being executed on the river
(1) Ganga | (2) Chambal

(3) Narmada (4) Tapti

FER gt A e T8 ) FEitad & @ e

1) m 2) ==a

(8) W (4) ar

19.

Which group of states receive water from the Bhakhra Nangal project
(1) J & K-Haryana—Punjab (2) HP — Punjab — Haryana

(3) Haryana-UP—Rajasthan(4) Punjab-Haryana—Rajasthan
P W T TG WG] A WA § A I B E

(1) & ds & — &f@m — s (2) Ry. — 4o —&Rarm

(3) eRarm — 7.9 — e (4) T — eRET — R

20.

The state in which Nanda Devi Biosphere reserve is located
(1) Uttarakhand (2) Jammu and Kashmir
(3) Himachal Pradesh (4) As_sam

75 st v w1 3 & wveh R a7 Rew 2

(1) TwE=E (2) 9 waq HEX

(3) femme sew @) rEm

PG-EE-2013 (Geography) Code-B
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Q“;f;‘"“ Questions
21. | The largest time unit is
(1) Epoch (2) Period
(3) Era (4) Year
Y B T T S 2
(1) 7 (2) %
() = 4) =
22, | The ‘Present is key to the past’ was given by ........
(1) Thornbury (2) Hutton
(3) Davis (4) King
T I A F B L F @ Ry
1) ol | @) &=
(3) =fm (4) R
23. | Anarrow strip of land joining two large land aréas
(1) Strait @) Isthmus
(8) Harbar = (4) Channel
A g AT B A A gy H Rt g £ i
(1) reTERH : (2) q 4y
(3) dmrm 3 (}?) STEHRT
24. | Slope replacement theory was given by
(1) Davis (@ King
(3) Strahler () Penck
ST-ARRATT =TT .. % &R R a7
R L @ o
3 T 4 T

PG-EE-2013 (Geography) Code-B
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Q“gs;‘.i‘m Questions

25. | Place on the Earth surface where Seismic waves reaches first
(1) Seismic focus (2) Epicentre -
(3) Seismic zone ~ (4) Seismic point
e i We W 9 ©F 9ol §HUY Tet 699 0o gl 8
Q) T 2) o=
@) T | (4) i Prg

926. | Which of the following is measured on the Richter scale
(1) Intensity of Earthquake (2) Density of Earthquake

| (3) Velocity of Earthquake (4) Pressure of Earthquake

Reaex Yo X ot & @ @ A S 8
(1) %9 % e (2) IF9 F A
@) wEwI @) 1 7

27. | Folding is the result of ........ _
(1) Epeirogenetic force (2) Orogenetic force
(8) Coriolis force ., (4 Exogenetic force '
CEle ) IR %1 qRm 2 T

(1) TR T @) e Pt g

(3) e s (4) i =@

28. | Formation of Barkhanis ........ work of 'fi;i'ind 5
(1) Erosional (2) Trﬁnsportati‘onal
(3) Depositional (4) None of the above
@A F I GG H ... o 2
(1) STIEAHS (2) REe
(3) P (4) s & B

(7)




estion

No. Questions
29. | V-shaped valley is a feature which is produced by .....
| (1) Youthful river (2) Mature river

(3 Old river (4) All of the above
V-SIR # O B IR ... BECARE
(1) &R 7 2) e T
(3) 7= (sfof) 7 (4) IWF T+l

30. | The example of arcuate delta
(1) Ganga delta (2) Rhine delta
(3) Nile delta (4) All of the above
TUHR ST HT IETET
(1) T S | @) w3
(3) =T (4) Svgw w+ht

81. | The unit of distance in case of R.F. is
(1) cmsand kms (2) feet and yards
(3) inches and miles (4) No unit
Pres et 2 0 Ao 2 e 2
(1) . qer R, . @) e aafg‘?sr
(3) @ (@) 3% e 7

32. | Indian weather report is Published:
(1) Daily @) Weekly -
(3) Fortnightly (49) Monthly
Tl A RO R & o g
(1) 3w (2) wrafes
(3) uitr : (4) =%

PG-EE-2013 (Geography) Code-B
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Question Questions

No.
83. | Mercator’s projection is used mainly for preparing ........ maps
(1) distribution (2) polar area
(3) astronomical ~ (4) navigation
THeT YAT P IWET A B ... e g R T R
(1) PR (2) gdm &=
(3) =g : (4)  g=EE

34. | What is the length of Gunter’s chain :

(1) 55feet (2) 66 feet (8) 77 feet (4) 88 feet
T 09 B FEE w7 A B |

1) 559 (2) 664E (B 779k (4) 88wk

35. | The median in the following numbers

13, 18,9, 11, 5. - L RE e
(1) 13 O ) @ 1
e demel § 0o ... 21

13,18,9,11,5 : e
(1) 13 (2) 09 (3) 18 (4) 11

36. | A Hythergraph shows the relationship between
(1) Relative humidity and temperature

(2) Wet bulb temperature and humidity

(3) Temperature and rainfall

(4) None of above &

X 6 T g9 B - St

(1) oM s ¢ TuHH (2) T S AN T SEA

(3) 9w T awi : 4) SREA PR T
3T b at any piace on equator

(1) Latitudeis 0° (2) Longitudeis0°

(8) Latitudeis 90° (4) Longitude is 90°

e Y $ Pl A W W O R

(1) semwoe (2) J=Ro°

(3) - s 90° (4) Tm=r90°

PG-EE-2013 (Geography) Code-B
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Q“l‘aﬁ" Questions

38. | Which projection is used to prepare topographical sheets

(1) Mercator ~ (2) International
(3) Bonne's (4) Mollweide’s
Wﬁﬁﬁ%ﬁ%ﬁ@ﬁ@%m%n
@ W (@ s

3) W e )

39. Proﬁlt;,s which shows the skyline of a landform

(1) Serial (2) Superimposed
(38) Composite (4) Projected
R o Pl ey i Pt Y B Rl B B
(1) @ _ (2) s

@) B 4) s

40. | Spacing of contours lines indicate
(1) iand use | i
(2) direction of slope I #
(38) degree of slope
(4) mone of above
e TEeT AR CE T A
(1) o ewEr
(2) @ @l fes

@) o & T

(@) S @ B T

PG—EE—2013 (Geography) Code-B
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| i X
The Ruhr-Westphalia industrial region is situated in
(1) Germany (2) France
(3) Switzerland (4) Denmark

42. | The largest producer of wood pulp is ........

1) USA (2) Canada
(3) Russia (4) India
FS T F TG0 91 IATD ...ooe. 2

(1) #gw T AR (2) FA=
@) = ' @) s

43. | Industrial region of China known for the production of cotton textiles

(1) Chungking (2) Shanghai-Wuhan |
(3) Kwangchou (4) Beijing |
o 7 ST R ST TR T B R S S
(1) gl : (2) EmE-geH _'-! i
(8) =E™ (4) sifs
44. ‘Tr.anshumance’ is a characteristic feat;.?lre of dairy farmingin ........
(1) Spain (2) Denmark
(3) Switzerland (4) Sweden
‘eragrae fFE 2w S SO0 SE @ Rk g
1) & (2) e
(3) FRagraTe @) weT

PG-EE-2013 (Geography) Code-B
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Ruestion
No.

Questions

45. | Major soﬁrce of commercial energy in India
(1) Natural gas (2) Coal ‘
(3) Petroleum “4) Nuclear ex:terg'_f.r
e # Aty Sl & e g
Q) sl e _ (2) P
3) W () e S
46. | The cash crop by which India earn‘ maximum foreign exchange
@) T;Jbacco 2) dJdute -
(3) Coffee (4) Tea
FFe Tl BEE | A B iman RS g0 A o B B
(1) g @ T ()
@) @ @ W
47, Whi(éh country has the highest live stock population in the Wdrld

(1) - USA 5

(2) China , S
(3) Brazil "
(4) India o

| Frea =1 et ugew R dw A R

(1) wgw s oA
2 ¥ :
() i

| @ sr&

PG-EE-2013 (Geography) Code-B
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Code-B

estion
No.

Questions

48.

The favourable factor(s) for the development of Rail transport

(a) Levelled plain area

(b) High population density

(¢) Excess of urban centres

(d) Developed conditions of agriculture, mining and industries
(1) (a) and (c) only (2) (b) and (c) only

@) (2), (b) and (d) only (4 (a), (b), (c) and (d)

¥ WRaET B R 3 Ty @ B

(o) o Berh () v= SEE T

() i 3 %) et (=) M, & o A 3 <
(1) s aFmy (2) #a@ g §

3 573 4 s ggaws

49.

The city which is known as Manchester of N. orthern India
(1) Delhi (2) Lucknow (3) Kanpur (4) Patna
& BT ST I AN B TR Feaw &

(1) F=it @) & 3) IR (4)

I =" G AR NT o

50.

The biggest fishing region of the world s
(1) The North-East Pacific Ocean I
(2) The North-West Pacific Ocean

(3) The North-East Atlantic Ocean - —

(4) The North-West Atlantic Ocean

faeT &1 w98 T31 T By

(1) oR-g s9id TemrTiy 8

(2) S-SR gt TerTTY A5

(3) SH-gEl oy qEmrTy @5

(4) TU-uREsl oy HErarry an

PG—EE——2013 (Geography) Code-B
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Q“Iflscf.io“ _ ' Questions
51. | The hlghest percentage of Geographlcal area Wxth naml‘al forest cover
(1) Andaman and N1cobar Islands ;
(2) MegRalaya ) | 37 ;v
(3) Arunachal Pradesh ! L
(4) Madhya Pradesh :
TR il & SR Seaow e @ Afe &
(1) vsaE oo FreeR 8 998 (2) HEed p =
(3) orEvIER WS (4) 7= B . "
52. | The Jharkhand state is carved out of =
(1) West Bengal (2) Orissa
(3) Bihar (4) Madhya Pradesh
FREUS T fhe T & I 8
(1) gf=et dme (2) g
(3) fEr (4) woRY
53. | Deccan Plateau of Peninsular India is an example of
(1) Continental Plateau (2) Volcanic Plateau
(3) Intermontane Plateau (4) Piedmont Plateau
TEENE AR P Rl W .. P T FETH JAETT 8
(1) T Er @) e R
(3) RN TR (4) fPfeg @R
54. | The principal cause of soil damage in Puﬂj ab and Haryana is

(1) Deforestation | (2) Overgrazing

(3) Ravine erosion ~  (4) Salinity and water-logging
o YT BRATT & 9 & afe 8 # g R ... 2

(1) FTmro (2) afeEmT j

3) @ o : (4) TEORT T SRR

PG-EE-2013 (Geography) Code-B
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Q“I%it.i‘m | Questions “ _
55. | The first Industrial policy in India was proposed in ........
(1) 1948 el (2) 1950
(3) 1953 r 4) 1962
qRa & gm oAenfe A # 9mem ... I
1) 1948 = @) 1950
(3) 1953 : (4) 1962
56. | The basis of development of Chota Natg'pur Plateau as an Industrial region
(1) Power availability (2) Mineral deposits
(3) Developed transport 4) Ilzarge demand
BT AFYR oK B A Ry B w9 § R B B e
(1) s gasar _ (2) @t WU
(8) Pl aREew (4) arfyss AT
57. | Heavy Engineering industry is located in
(1) Kanpur and Lucknow (2) Mumbaiand Pune
(8) Jamshedpurand Asansol (4) No where above
(1) BFEYT T TGS ) g‘as‘amg&’fg’;
(3) SWIRYT T AR (4) I FEl T
58. | The major oil pfoducing region of Imiiz‘;; . ;
(1) Assam valley : (2) Gulf of Khambhat
(3) Ankleshwar oil field (4) Bombay High
A H TG @S O I 8
(1) 9|9 =9 (2) T #l @Rl
(3) oimasaT d &5 (4) ard g

PG-EE-2013 (Geography) Code-B
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. Q“ﬁ?““ Questions
59. | Coal deposits in India mainly belong to ........ period
(1) Vindhyan | (2) Gondwana
(3) Tertiary (4) Quaternary
T X PR B PR (Ge) I ....... F Y T
(1) Rem (2) TMeart |
3) Q'cﬂﬂ%‘e@f (4) =¥ AemERq
60. | The copper mines in India are located in
(1) Dhanbad (2) Kolar
(3) Khetri (4) Mayurbhanj
AR AR A T . B R B |
(1) o= (2) ®ER
@) @ (@) g s
61. | Majority of tribal population of India belongs to ........
(1) Bhils ' (2) Santhals
(3) Nagas : (4) Mundas
A ¥ SR T T ... W
1) b | @) wIq
(3) =rm 4) 7=
62. | Which is believed to be the sou;cé area of human origin
| O North Asia (2) Africa
(8) Europe ~(4) North America
TG SRy T B & e T o
(1)  Id (2) i
@ T|Wa . (4) Sh s

PG-EE-2013 (Geography) Code-B
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Questions

Who was the founder of Human Geography

(1) Ratzel (2) Blache

(3) Semple (4) None of above
qME A 3 T B 4

(1) T (2) == '
3) d=w - (4) ST F BE W

64. | The term Nomad implies

(1) Animal rearing (2) Tribal population
(8) Moving from place to place (4) Dry climate

e g & o |

(1) g (2) oY SEE

(&@wﬁﬁiﬂimﬂw @) g Ty -

65. | What is intra regmna.l migration ?

(1) Non metropolis to metropolis (2) Urban area to sub urban area
(8) Rural area to urban area (4) All of above

ST e w7 =

(1) MR § 7R # @R (2) TR A W TR A A

@ mwdITRAA (@) REE b

66. | Where is the land of the Pygmies'? . i o

e

(1) Central Africa (2) South Africa

(3) North Africa (4) None of the above
Rt 2t o=t S T B 7

(1) = b | @) Rl swhe

3) ST . (4) ST | g o

PG-EE-2013 (Geography) Code-B
| (17)



RQuestion Questions

f No.
607. The townsassociated with civilization in Indus Valley
1) Ur ' it S Memphis
(8) Erech . ' (4) Lothal
@wﬁw_w-aﬁrﬂwaﬁwﬁ%
(1) K (2) HRww
| | ® & e MO
68. | The decade in which populatxon recorded a negative growth rate in India
(1) 1901-1911 _ @) 1911—1921
(3) 1921-1931 (4) 1931-1941
29 Rt AR o swEen # e & ad
(1) 1901-1911 ) 1911-1921
(3) 1921-1931 (4) 1931-1941 |

69. | The concentric zone theory of urban structure was proposed by

(1) Hoyt (2) Ricardo

(3) Malthus ' (4) Burgess
i T S W afear fvar @ o P R ?
(1) @de 2) ﬁm‘?

(3) uwEE @ =

70. | Rank size rule is used to Measure ........

(1) degreeof urbanization (2) levelof urbanization

| (3 hierarchy of towns =) spacing of towns
Ay TR FEm { 1 TG AT ST B
(1) FREE B (2) THREHT HF WX
(3) I 1 I (4) i % g0

PG—EE-2013 (Geography) Code-B
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Question
No.

- Questions

TL

Shifting cultivation is most commonly practised in ........

72.

(1) Forests (2) Deserts
(8) Coastal plain (4) Grassland
T B SR e a S e

@) =i 2) ==

(3) @ FT|/H (4) o§ 3 FW\E
Which is an abiotic resource

(1) Cotton (2) Wood
(3) Air _ (4) Food grain
BT | TF SIS GEE 2|

(1) =wE (2) g

® @ =

73.

A settlement with more than 75% of its population engaged in non-
agricultural activities is called ........ '

74.

(1) atown (2) avillage

(3) ahamlet (4) any one of above
qasaﬁfr,ma%%%%eaﬁzasaaﬁwﬂwﬁmﬁa?a ........ Feal ¥
(1) == (2) | W

(3) i | _ (4) SO § B8 A

As we move from poles to equator, !;he number of animals and plants species
(1) become reduced (2) become increase | '

(8) irregularly changes (4) recorded no change

-9 & gal § e Y@ A oI Ted § A0 @ i el qur Akt i e
1) =9 af arh B _ (2) ot T B

(3) il gRadw & B (4) ¢ afgd =& B 2|

PG-EE-2013 (Geography) Code-B
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Questionl
No,

Quesfion_s

75.
(1) Political integration
(8) Loyalty to the state |

Which is not characteristic of a nation

(2) Social integration
(4 Well defined territory

B W T TS 7 AR Hﬁf ?
(1) R g (2) amfF e
3 T % ufy et (4) T oftsnfe &y
76. | Author of the classical book ‘Anthropogeography’
(1) Brunnes ' (2) Blache
(3) Semple (4) Retzel
@) ¥ 2 =
@) T 4) T
77. | Environmental day is observed every yearon ........
| 1) 1 December (2) 31 December
(3) 5June (4) None of above
T Rew i ... P AT o7 ¥ |
1) 1 Rey @ 31FRg
3) 59 (4) S F 3
78. | The natural vegetation of Western ghats belong to ........ tvpe
' (1) Deciduous (2) Evergreen |
(3) Alpine -~ (4 Mangrove
S¥e e ) R Ty L T B
(1) ol @)
3) 4) i

PG—EE—2013 (Geography) Code—B

(20)




‘Questions

Which is a satellite town
(1) Ghaziabad (2) Muradabad
(3) Hyderabad (4) Ahmedabad
P | SN TR B -
(1) whwEmEE 2) TEEE
() TEE - (4) ETEEE
80. | Which one have largest number in trophic pyramids
(1) Autotrophs (2) Herbivores
(3) Carnivores (4) Omnivores
Qo7 RRrfe & ged oiftre wear Rast B
(1) (2) s
3) et (@) wrd
81. | Compare to other slopes in the northern he;:nisphere which is the warmest ?
(1) East facing (2) West facing
(38) South facing (4) North facing
Il e § o oI @ g § BT A o q oAy, T @ ¢
() w5 @ g
(3) afeem @) wugd
82. | Which of the following is an examplé oi’Atmospheric disturbance
(1) Rain . (2) Cyclone
(3) Front (4) ‘Wind
Frer & @ # &1 agAveaE REe 1 S &
1) = ' (2) =pa
(B = (4) 99+

PG-EE-2013 (Geography) Code-B

(21)




Questions

Loo is example of

(1) Local wind (2) Permanent wind
3) Polarwind (4) Katabatic wind
G ....... 3T I} e
(1) ©EEg W= Q) wWR @A
(8) gda T (@) S
84. | Most of the Weather phenomena takes place in the ...
(1) Stratosphere (2) Ionosphere
(3) Exosphere (4) Troposphere
yg: A Tl g+ g ¥ g B 2
(1) «HaI Hosd (2) o AvSA
(3) I AU (4) wRadT TUsw
85. | Which type of climate does not occur in the southern hemisphéré
(1) Hot desert (2) Savannah |
(3) Equatorial (4) Tundra
| o R #t Sy S e § T e
1) o1 @) .
(3) gt | @ g
86. | Clouds distinguished by continypusly falling rain or snow
(1) Alto-stratus (2) Cirro-stratus
3) Nimbo-stratus (4) Cumulo-nimbus
AR ST @ Rl et & @ R 3 g AR R
(1) w9 9= 7y 2) W™ @l "™
(@) =t =l (4) FE aff ¥
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Q“;f‘m Questions

8% | When one can record the lowest temperature of air
(1) dJust before sunrise (2) At3.00a.m.
(3) At mid night (4) No fixed time
&1 &1 (i e Fe s (aof) Rear o aeer ®
(1) wiea & &% vea 2) g 3.00 T
@) wmmd (4) P 77 @

88. | Mediterranean climate is represented by ........
(1) Do : (2) Cs
(8) Cf : | 4) Am
TAHEE T ... &1 WefRf Bt &
(1) Do 2 Cs
@ Cf @ Am

' 89. | The major source of oceanic salinity is ........

(1) Land (2) Rivers
(3) Wind (4) Volcanoes
R TR G B ... g :
M o @
@) uad (4) =mHE | g

90. | The line joining the places of equal pressure at sea level is called
(1) Isoline @ Isohyet
(3) Isobar | (4) Isohanline
wwnwma@wﬁﬁ@sﬁmﬁw ........ Fael &
(1) & & (2) wEt @
(3) wwEE @ (4) ToEEY @
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Q“;ffo Questions
91. | The father of modern economic geography
(1) Chisolm (2) Forlane
-(8) - Drakenwald ' (4) John
(1) R | (2) weH
(3) == (4)

92. | The scope of economic Geography is

(1) Evaluation of natural resources

(2) Evaluation of human resources

(3) Evaluation of economic activities

(4) All of above

e e v &= |

(1) sl SETeA H1 g ihT (2) wER HEEA F HET
(3) onfies frametl 1 gediee (4) ST a+d

93. | Which is a tertiary economic activity

(1) Mining (2) Manufacturing

(38) Transport and trade (4) None of above

A @ gt o B e

1) S (2 T

(3) uftaes qur &AM (4) STF 7 B TE
94. | Gravity model of interaction :vas given by -

(1) Newton = . (@ Ulman

(8) Spencer = (4) Ricardo

o el 1 e et R A R T

1) == 2) T

(3) =Y (4) Rl
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No. -

Question|

Questions

Which human activity is directly resource based

95.
(1) Forestry (2) Transport
(3) Education  (4) Manufacturing
9 @ g B @Y dEeT WoaeRa 8

1@ aF= _ (2) omEE

(3) fRmm (4) P

.96. Example of renewable resource :
(1) Solar Energy (2) Tidal Energy
(3) Water | (4) All of above
@ &wwt - . (2) wrta
3 v ' (4) I a

97. Who propounded the theory of Industrial location
(1) Van Thunen : (2) Alfred Weber
(83) Water Christaller (4) Dudley Stamp
e sl Rrer & aRoeT Reaa fear -
(8) aeX BRER | (4) 3= ==

98. | Treeless grasslands are known as vj‘
(1) Llanos ~ (2) Campos
(3) Steppes (4) ~Savanna
gy a9 3 TV ........ FEA ¢
(1) @ | (2) Fw
@) =@ (4) &
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Question £
i Questlons.
99. | Which is not a characteristic of commercial grain farming in semi-arid

lands : : _ | ‘
(1) Modern machinery (2) Multiple crapping : :

(3) Largefarms (4) Sparsely populated region

# ok g M & AP ST Geft Y Rdar W 2

(1) ey 7= (2) g o o A

(8) ¥ IWR & & (4) Frw sEE 89

100. | Most plantation of tea, coffee and fruit are laid out on

(1) Alluvial soil (2) Black soil

(3) Mountain soil (4) Deltaic soil

M, HH T FEA PGP ATEX ... W 93 I &

(1) g Pred (2) @ frgd

(3) uddg Mg (4) 3w PrEd
¢ ; I
=
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